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/* heap sort (O 0O) */

/* C program from OO 0O00O0OOD0OO0OOODOOOOOOOO =/

/ 00000000000 199200p.297--p.299 */

/* 19970413 */

[k m */
#include <stdio.h>

void swap(int *, int *);

void shiftdown(int, int, int *);

void main(void)

{
static int heap[100];



int i,n,m;

n=1; /* 00000000000 */
while (scanf ("%d",&heap[n]) !=EQOF)
n++;
n--; /* 0000 %/
for (i=n/2;i>=1;i--) /x 00000000 */
shiftdown(i,n,heap);
m=n; /n 000 =/

while (n>1){
swap (&heap[1] ,&heap[n]) ;
n--; /* 000000000 =/
shiftdown(l,n,heap);

}

for (i=1;i<=m;i++)

printf("%d ",heapl[il);

void shiftdown(int p, int n, int heap[]) /x OOODO =/

{
int s;
s=2%p;
while (s<=n){
if (s<n && heap[s+1] > heapls]) /x OOOD0OOOOODOO =/
s++;
if (heap[p]l>=heap[s])
break;
swap (&heap [p] ,&heap[s]);
p=s; s=2%p; /000000000 x*/
}
}

void swap(int *a, int *b)
{
int w;

w=*a; *a=xb; *b=w;
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